425 Hz

DISCRIMINATOR

INSTRUCTION
MANUAL

HAL COMMUNICATIONS CORP.
BOX 365
URBANA, ILLINOIS 61801

QUALITY COMMUNICATIONS EQUIPMENT



as25 Hz

DISCRIMINATOR

January, 1983



¥S '9-1S"ON

03A0UddY

3108

2.61'8 AIne 3.v0

UOJDOH}IPON 11US- 331y
iojojnpowsq 9-1S

TOB19 *SIONITI YNVENN ‘'S9E X0

dd0D SNOLLYDINNWWOD

. 8414 91
- J0jourwdsIq

214DWAYIG GZH-2 PI0OR 41NAID

AT~

«SNid - sNid.

= 02Nt

I 1
) S=5 BT TR
ZH0Gg2 SOLH mu

900 a%0dg

T =
Gzp-z pioogunony 3 ¥ (.
v20L0
T Ayw g8
%00t |
6024 | Aﬁ zan
| 1
0N gpToNt
b
m%wmos 2040
SHIHNT
wnaino 8 OLNT - 10.0
_ »0Q fawes
Db 1041
| B3 1=
| V1o
| H ¥00L I
| a9 10 2024 |
| PR won n DL
|
oty 0z2NT 2H g212
| €020 YIoW
_ (L]
A2+ G2 -2 P400g 1N ‘666X - TOLX

9bupyd ‘Ajuo wdm 09 104 ‘wo1iDZ11ONDY WM OOT YiIM UMOYS Si J3}|13 SSOd - MO

U §SISSO 0} SUOHDI0| PADOQ §1NJJ1D |DUCHIPPO 310 V20D 8 VIOLO S404100d0]

w014 UIDW ‘660X - TOOX
: wysAg bursaquuiny jusuodwo)
Py 10" ubm j2)10.0d Ul Py7 EEO" S 204D
*(1onuoW 998) Py 220° 0F 904D

*s48}11) Buiung

“P3JOU ISIMIBY0 SSA|UN M H/T S404SISBL ||

10}DUILIIIOSIQ PAYL 8PN|OUI OF KI4INDIID YDHMS - 1}IUS OF UOIDD1JIPOW

4040](1950
ASAV T-HV 0}
[+ 6
L4
(SNIdf - SNid. ) H
ou b pioog §1n2410 ot
gud o
€ P400g JN2UID w.a«.'.wus\lv @°

Nuld o} -+

4 M %o 08S ose

0u1-2 . 388
34095011950 ¢ pioog ynoug
900dg
]
= = oL1-1
>NTH |_| _ H pivog ynouy '
[-3 aN 4
oux i _ﬂm0|( s = Iy ot
R g2b-2 . Rl o
/) (4 pioog j1nduld 9d0280}{1950 €8S
indur ose s er o068
Tt ~
ass F
058-1
Alts _ pioog ynouy '
4
o
2d0950j}1950 [ 088-2 1
i pi00g HIN2A1D

induy o1pny
"
ves
Yoimg
Hius




ZM'9-1S ON| Mo

T
— 3wos | 2461 ‘18 Kint 3,170

woubp1Q Butdim 9-1S ‘uoldo
1414s-€ PPV 0} parinbay sabuoy) Buritm

10819 ‘SIONITTI YNVEYN ‘S9¢ X08

dd0D SNOLLYDINNWWOO

1oy juos . 8S 0} WIIIMS 1 €49 ANINSANS 'U0HAO 1)INs~-C 04
(44s) 8S
o]
1]
o
2 ol
Y I
T TEYD YEYY amom T INREE
*$11049p 319|dw0D X0y 2 §558 3368 womesd ITFSS
TM‘9- 1S woib0iQ Butitm 39S "UMOYS 310 UOLO01}1POW }JIUS-¢ 3 mememm — 3 Fezpr?
aul Aq P3423440 423J1p SUO1IIUUOD PuD S3J1m K|U0 K0P SO H 22233333 2 s
N e a2 laas =z 2%
T — “ S+
[} [] [] [} @ | ® ® ]
IP : T T
H Bdiam z
Mw L -So “1ouibuo
4
J nu \\ wouy UM
o0 \ st 942120 1
- u 444
Y FMW gt Ll ] —
g ¢\\
g 1
N iy @
i 10y
L h's
® ® ® ® ® e ® ® _
[3 3 Rv-2 -2 Q-1 058-1 ~ 058-2 -2V
- A.._ \ Tv _.v -» - siuduodwo) -+ -

2010907 3Bp3 siyy PPy
‘uondQ 1j1us-g x4

190
109y
wouj




8v0i8 Gl61'8 N

LNDAYT QHVOS LINoHID
HCOLVUNIMIYOSIO ZH 62p '9-1S

(G3ANIWWO0D3Y) 47/ GI0'0 = 9CLD — MM 00!
413200 =9020 — W 09

INOILYZITVNOD3 53114 SSVd-MOT 2
ONINNL ¥O4 SNOILYIO]
TYNOILIOGY 3MV ¥20.D NV VIO
ZH 0552 = (2020 + 2047) 3ovde
ZH G212 = {1040 + 1D27) N¥VW

13MY STIONANDINS ONINNL 1 :ILON

301S 3S¥IATN NO
Hweg ‘29.1

30NVYIVE
HOLYNINIHOSIO —

~—
TSe—— 3015 3THIAIY
NO YZO0LD

LNINI -1 o]

- 19'¢| x8'9
a3sn lon -2 zoLu | voLu
- \" oS
Q3sN ION - ¢ o vioLnd o a_ 8]
’I - - o - 'l\
[30vds - » o i
340950771950 0L | m
MUV - ¢ ° (o
h v u..TmO _OFO
1ON -
a3sn ° Olu sbly e6zu Jm*woz.
NN EMTId-SNd,, - 2 o 2o . Nw 4y ﬁ, oz

Q,
2040 nOhm {t1042M1 H0.a

olll@ X00!

D4 1001 LO2H

Azi-—ol °  yo socH (s
et-- 1022 ‘214 (S——e Amna A :

LNdino-e )

Q3sn LON-6

=]
N6OL
A2l+ =11 ) A 00
Wiy (Q—e I 100 | solo \
ano -2i o 8040 A ©
. \ 2 b
5 o1 (S——e X w
\
”\)\.. s v 19l
44922 %118
I 4C40 00!
$0L0\n/ © 60L4 O







SINGLE TOROID

~———TOROID RETAINER
(THREADED)

/—-— TOROID
COMPONENT SIDE

«——CIRCUIT BOARD

Londionden I'// & VA o LY

COPPER SIDE ——// L T #6 LOCK WASHER

TT——6-32x 2" scREW

STACKED TOROIDS

-<———TOROID RETAINER
(THREADED)

-4—-————-—-— TOROID
COMPONENT SIDE

< CIRCUIT 'BOARD

i
o X1 V. 4
y

|
COPPER SIDE —/ \.NYLON WASHER

N
\ {
| |
/ \ ~————TOROID

Z AN
|

TOROID RETAINER
(NON-THREADED) Nlm

i #6 LOCK WASHER

S~ 6-32xI1" SCREW




STANDARD MULTICOLOR
RED o e GRN 3

e e

INNER WRAP —~

RED 2
SERIES CONNECTION , 88 mH
Ao N CT (CENTER TAP)
L =88 mH o %HE
‘ i :
| Bo— . Z

PARALLEL CONNECTION, 22 mH

| o o 3

Do I
L=22 mH j”g
I




HAL Communications Corp.
Box 365 Urbana, IL 61801

ST-6 425 Hz Discriminator

Parts List

Resistors (% watt)

HFNHWHERREN

47 ohm
1500

5600

6800

47K

100K

220K

1 meg.

5K trimpot

Semiconductors

4 - 1N270 Ger. Diode (G)
2 — 1N4148 Silicon Diode (S)
1 - 709N Integrated Circuit

Miscellaneous

RFRERERRRRREN

88 mhy toroids

14 pin IC socket

6-32 x 1%" screw

Toroid retainer (threaded)
Toroid retainer (not threaded)
#6 Lockwasher

Nylon insulating washer

ST-6 No. 2 circuit board

12 pin edge connector

6P3T rotary switch

Capacitors

ol e NN R e

220 pf ceramic

.005 mfd ceramic

.015 mfd mylar (100 wpm)
.022 mfd mylar ( 60 wpm)
.047 mfd mylar

.068 mfd mylar

.1 mfd ceramic

.033 mfd mylar

.01 mfd mylar



HAL COMMUNICATIONS CORP
P.0. BOX 365
URBANA, 1L 61801

LIMITED WARRANTY

HAL Communications Corp of Urbana, I1linois, hereby warrants to the original
purchaser only that any new equipment manufactured by HAL Communications Corp
shall be free from defects in materials and workmanship for a period of one
year from the date of original purchase. |In the case of parts kits, this
warranty applies only to materials and not to workmanship in kit assembly.

In the event of a defect in materials or workmanship during the warranty
period, HAL Communications Corp will, at its own expense, repair the defec-
tive unit and replace any defective parts. Costs of shipping the unit to
HAL Communications Corp shall be paid by the purchaser, as well as costs of
removal and reinstallation of the unit. HAL Communications Corp will bear
the shipping costs incurred in returning the unit to the purchaser.

To obtain service under this warranty, the original purchaser should do the
following:

1. Notify, as soon as possible, the Customer Service Department at
HAL Communications Corp, Urbana, {l1linois, either in writing or by
telephone, of the existence of a possible defect;

2. At the time of notification, identify the model or serial number,
the approximate date of purchase, the place of purchase, and the
possible defect;

3. Hold the unit until a written return authorization is received.

L4, Return the unit, freight prepaid, upon the receipt of the written
return authorization.

‘Correct installation, use, maintenance, and repair are essential for proper
performance of this product. The purchaser should carefully read the tech-
nical manual.

This warranty does not apply to any defect which HAL Communications Corp
determines is due to any of the following:

1. Improper maintenance or repair, including the installation of parts
or accessories that do not conform to the quality and specifications
of the original parts;

2. Misuse, abuse, neglect, improper installation, or improper operation
(including operation without a proper safety ground connection);

3. Accidental or intentional damage.

All implied warranties, if any, are limited in duration to a period of one
year from the date of original purchase. Some states do not allow limitations
on how long an implied warranty lasts, so the above limitation may not apply
to you.

HAL Communications Corp disclaims any liability for incidental or consequen-
tial damages arising out of the use of, or inability to use, this product.

Some states do not allow the exclusion or limitation of incidental or conse-
quential damages, so the above limitation or exclusion may not apply to you.

This warranty gives you specific legal rights, and you may also have other
rights which vary from state to state.



